= 2700]|E2 6+ 2 = 8(7H) 4yt




HEA 1 : 4 =2 : 8 oA Wy ( )<} ( )RR h=

, e 1, 8YYth




3. kg ullAe Bhe) 5402 el A0 R SulE AL n2Ae
3:4=15:20
4 15 3 20 3 4
Di-% RRT

3:494H194%k—3—§1,

1
15 : 20 ©] 1] o] ZHe 2_2 olmz
3 15

42




4.

oFe 715 0] AL A AN G 2] BolE T5HAS,

O

>
[> MEH: 25.12cm

(AAZHe] 7= (e 9] 97
= 4x2x3.14 = 25.12(cm)
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webA] (A)22] ZoT)= 80 2 = 30(em)
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™

Heo] gitaro] 788kg d W, B O] A4t

> & kg

> HE D 3546kg

B |

(B A=) . (B AAF)=2 : 9o|B=

2:9=788:[ ]

— [ ]=9x788+2=3546(kg)
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15. o2 A= 9] E89] Aol 60.24 cm YU T o] AL E FHE0]7]
= 97159 2ole B em® dY71?
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® 79.52 cm? @87.92 cm? ® 92.86 cm?

@ 100.48 cm? ® 121.88 cm?

(U] =)= (60.24 — 5 x 2) + 4 = 12.56( cm)
(U] 2] 5)= 12.56 + 3.14 + 2 = 2(cm)
(

=
X2X3.14%x2+12.56%5
5.12 + 62.8 = 87.92( cm?)
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